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General Instructions :

Read the following instructions very carefully and strictly follow them :

(i) Question paper comprises four Sections, A, B C and D.
There are 35 questions in the question paper. All questions are compulsory.

(it) Section A — question no. 1 to 20 are very short answer type questions,
carrying 1 mark each.

(iti) Section B — question no. 21 to 28 are short answer type questions, carrying 3
marks each. Answer to each question should not exceed 80 words.

(iv) Section C — question no. 29 to 34 are long answer type questions, carrying 5
marks each. Answer to each question should not exceed 120 words.
(v)  Section D - question no. 35 is map based carrying 6 marks with two parts

35 a from History (2 marks) and 35 b from Geography (4 marks).

(vi) Answer should be brief and to the point. Also the above word limit be
adhered to as far as possible.

(vit) There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such questions
have to be attempted.

(viii) Attach MAP along with your answer book.

(ix) In addition to this, separate instructions are given with each section and
question, wherever necessary.

Section - A

1.  Which one of the following was NOT the result of the Treaty of Vienna 1815 ?
(a) The Kingdom of the Netherlands was setup in the North.
(b) Austria was given control of Northern Italy.

(c) Prussia was given important new territories on its western frontiers.

(d) Russia was given German confederation of 39 states. 1
2.  Define the terms ‘indentured labourer’. 1
P g

.| 3 P.T.O.



ElE ElE
= =
3. TR % i Tl & MR T F<A1 & §ea &1 el foehed T |

(a) Tafy= came gl & o

(b) ol gl TvgE & A

(c) Taunfmem, wriuTfetent ta =rmadifctsht < Aed
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4. i3t S Eul % T & S &F § g0 9dq 9 o fo1e 18 s g fafe | 1
AT
vt et § gt uftar S | seera & o fofe SiE veh gema fofaw | 1
5. T A9 B U Y O fased 1 999 FIfT
W A w9 B
(a) IS o TG fpa™ (i) T A o 3Tk TG qT SEat ASIgl
(b) R TTHIOT ARG (ii) o= & foru stfafarm aneqi 6
EECEon
(c) Toram S @eft & fTU Shaet eI W (i) TohETT =BT 3ehT 30 o foAW Samen
g | BERER
(d) T F IR IFER B TH ASHl (1v) 3T 39 TS & THM ] fHeAdl 2 | 1
6. Gnfed ud rEnied & § 37X oY HIfT | 1
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Fhamon, e 31 R 3 o ot iiRs

- 1‘3;30‘1?;“; AR % | o s s (2 100 )
’ (2011) | SR (311 14 7= 15 9¥) 2013-14
(2016)
g 33 82 61
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i ;3T Fee, 2017-18 Sicyd 2, WRA TR, TP T Haaiur §ie-
(feavd g 575)
ore T <Y TTeRaT o wed T B 7 1
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3. Identify the correct option of power sharing on the basis of different levels of

government.

(a) Among different pressure groups.

(b) Among different social groups.

(c) Legislature, Executive and Judiciary.

(d) Union Government, State Government and Local bodies. 1

4. Suggest any one way to pay equal wages to women in all areas of work as
equal to men. 1

OR

Suggest any one way to change ‘family laws’ of all religions. 1

5. Match Column A with Column B and choose the correct option given below :

Column A Column B
(a) Prosperous farmers from Punjab. (i) More days of work and better wages.
(b) Landless rural labourers. (11) Availability of additional sources of
irrigation facilities.
(¢) Farmers who depend only on (111) Higher support prices for their
rain for growing crops. crops for farmers.
(d) A girl from a rich urban family. (iv) She gets as much freedom as her
brother. 1
6. Distinguish between ‘Organised’ and ‘Unorganised Sector’. 1
OR
Explain the meaning of Disguised Unemployment. 1

7.  Study the table and answer the question that follow :

Some comparative data on Haryana, Kerala and Bihar
Infant Mortality | Literacy | Net Attendance Ratio (per
State Rate per 1,000 Rate % | 100 persons) secondary stage
live births (2016) | (2011) | (age 14 and 15 years) 2013-14

Haryana 33 82 61
Kerala 10 94 83
Bihar 38 62 43

Sources : Economic Survey 2017-18 Vol. 2. Government of India ;
National Sample Survey Organisation. (Report No. 575).

.32/2/3.] 5 P.T.O.
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Froran
W oh 3T R T TE WG] I 1 919 fTRaT | 1
10. fr=ferRad usai 8§ @ forod @adt afe i @m fa @ 7
(a) ToEIH (b) dftrerTg
() IWI (d) U9 1
11. ‘3T Yooh’ I76G oh! TRATING ST | 1
arran
FATS ICA TR ? 1
12. TraTwa 868 3. ® sitg sRmE g &1 gfga foan 7 1
13. Sfcsam & frar yq@ w9 @ f=fefaa § @ i i g wmd dierd § 2
(a) e IS (b) SIIHE
(c) THITET d) wHaH 1
14. =1 o &fast faawor o1 379 Tm Hifsu | 1
15. e T 1 gfd T :
Ty | frg T Folt o TS T o foTe ST SITram 8 | 1
16. W™ A 9% B H § g&l foshed o1 w3= il |
A W B
(a) Wﬁgm#@ﬂ @ T
(b)  TEYW AT Sl G (i) FRES
(c) FiFETEe ! WGH (111) NI
(d) A d & (v) 3THch 1
17. 39ged g1 9 ffaRaa arfereht i g Sifae
WTTHed o TR W HETEHT o TehR
e IR / TR
A? ELRIAGISIERE I
B? foram <h Wt <t S Y+ ls=1

18. ‘U5 Tl 3 WiEe shifd & fow sgge aifeufet & 2 fafafes 4 @ &9 @
forehe oM i I8 AT § 2
(a) BURE % Tod AHICH o Terdent o o=l =1 T8R g3 |
(b) TG A Yfhdr 3T TG T ST Ut |
(c) TR UGRIAT i HaTe o a1e-Tearg i Tt F&hid S 5+ e |
(d) U TR A HaA i a7 oh T hT THR FohaT | 1
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Suggest any one measure for the development of any activity of
‘Secondary Sector’.

9. Name the first major sea port developed soon after Independence on the
Western Coast.

(a)
(©

Rajasthan

Uttar Pradesh

OR

Name the inland riverine major sea port of India.

10. In which of the following States i1s Khetri Copper Mines located ?
(b) Tamil Nadu
(d) Punjab

11. Define the term ‘Tariff.

OR

What is a ‘Fly Shuttle’ ?

12. Which country printed the Buddhist Diamond Sutra in 868 A.D. ?

13. Which two languages among the following are prominently spoken by

Belgium Nationals ?
French and English
Russian and Dutch

(a)
(©

14. Explain the meaning of horizontal distribution of power.

15. Fill in the blank :
1s well known for effective use of wind energy in Rajasthan.

16. Choose correct option from Column A and Column B.
Column B

(a)
(b)
(c)
(d)

17. Fill in the blanks of the following table with suitable information.

Column A
Mayurbhanj Iron Ore Mines (1)

Chandrapura Thermal Power Plant  (i1)
Bauxite Mines (111)
Kalol Oil Fields (1v)

Type of Resources : On the basis of Ownership

(b) Dutch and French
(d) Russian and French

Jharkhand

Amarkantak

Resource Examples / Type
A? Grazing grounds, ponds etc.
B? Cultivated land of farmer.

a+le=1

18. “Print culture created the conditions within which French Revolution

occurred.” Which one of the following option support this statement ?
Print popularized the ideas of the enlightened thinkers.
Provided a critical commentary on modernity and despotism.
Print created a new culture of dialogue and debate of clergies.
Print culture spread the views of Nobility only.

(a)
(b)
(c)
(d)

7
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TofecTaefier & o1 T H e 3TTereh i o1 ? Fmfoiiad H § 68t foehed o1 == shifa :
(a) 3T IR BIE ABR 6T off |
(b) 3= THR gHI W= feharm 7 |
(c) &S IThR hl T Tecteh off |
(d) 3 313 HITS WK off | 1
fSifen S veet vga e 4 o GEehT o ST 3T | 1
AT
Hfeteh GRTET 4 1579 H I | qgel! fepare BT | 1
g -d
WA W ¢ (Y28 TN h THE 3T foheg| 11 THE THEII 1 FUM HIT | 1x3=3
JrerE

Tertlt &1 T 3T bl TTfard i ATt febegil i ShTehl o1 AU <hITTT | 1x3=3
“FATTSA &rTeh oh HHTTIT ol TSHTR L& o AT A & |” 38 e 1 Yoo hiforT | 3

R
“WTTR T &reh <h1 Feft TEnatl  HH E9 8 Hafg T8 2 W 17 39 Y Wl Yoo i | 3
5181 & v T o THT A o Toheal - T bl T8 IR | 1x3=3

AT
TR T o T § el FAUT SR H WA oh EH 3T el IcaTel < ST9TaeTed! 8 b
Toregl <fi<1 STl Sl TIE FHIFT | 1x3=3
“HTCd 1 SToh-HaR a7 Tovd 1 I50H & |” IaTeL0Il Tl e i gfE i | 1x3=3
TR TSTHIf B BTIeTRendt <6t fohegl i Jmenat o1 auH hifs | 1x3=3
AT

i <1 faenfrest & afgensti & wn gfafafca 6 woen o1 9 it | 3
W " 4 afofa w g o6l fopegl i ferrrernatt =61 aoiq hifv | 1x3=3
T  f3reqT o gorr & fote iE e 3um gamsd | 1+2=3
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19. Why were the Bibliotheque Bleue popular in France ? Choose the correct
option from the following :

(a) They were cheap and small books.
(b) They were promoted by the State.
(c) They were voluminous and colourful.

(d) They were printed on good quality of paper. 1

20. Fill in the blanks :

The printing press first came to Goa with missionaries. 1
OR
Catholic priests printed the first book in 1579 at Cochin. 1
Section - B
21. Describe any three major problems faced by the Jute industry in India. 1x3=3
OR

Describe any three factors affecting location of industry in a region. 1x3=3

22. “Workers in the organized sector enjoy security of employment.” Evaluate

the statement. 3
OR
“All the services of the ‘service sector’ are not growing equally well.”
Evaluate the statement. 3
23. Explain any three effects of scraping Corn laws in Britain. 1x3=3
OR

Explain any three reasons for the domination of silk and cotton goods of
India in the International market, before the age of machine industries. 1 x3 =3

24. “The Indian postal network is the largest in the world.” Support the

statement with examples. 1x3=3
25. Describe any three problems of communalism in Indian politics. 1x3=3
OR
Describe the problems of low representation of women in Indian
legislature. 3

26. Describe any three characteristics of ‘Union List’ mentioned in the Indian

Constitution. 1x3=3
27. Suggest any three ways to improve education in India. 1+2=3
PP g

|
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29.

30.
31.

32
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feu 1w & 1 afen TR 3 = fou ey o1 3w faRay

ST A ?

319t fdrg Taeh fig Taet (1909) § wgrean mieft 4 <har ot fob wra o forfest s v
% TN W & TG g AT 3R AG A T TN < HRUT Ied 9T T 8 | 3R WR-A &b oA
YT FEINT 198 o o ol T1eT WX o ofieR forfesr smrem < S 3R Sy <6t wmoen 2 S |

STHEANT 1 ToaR ST h8l 59 Tehd o1 7 TEAST o1 GITd AT foh I8 SAGIeH wueg
ﬁﬁﬁma@lwﬁ%ﬁaﬁﬁwmaﬁwﬁmvﬁaﬁaﬁ@ﬁw
i, |, gferm, sTererdr, faemdht uftvel, whett 3R fagelt ot =1 afgshr S =1ten |
wmwwwm%ﬁmaﬁwmaﬁmﬁ%ﬂgammuwoaﬁ
Tt W TTES 3TR iehd JTeft TG o foTe TR e 5T o3 W H 9 hid @ |
(28.1) TSt 3 W ® forfest ammy & oied & foe o eferm smmm 2
(28.2) 37U WRA |y T ?

(28.3) ITHEANT ! AT S o fow Tiefsh o foram 1 =g i | 1x3=3
wUg —

STt o TeheRtT § SAfera fereureh shi yiftreht shi T hifC | 5

sﬁ%q@wﬁ@g@iﬁmﬁiﬁwaﬁwaﬁm| 5

WA Sy T ATTehTuT o TNTE <hl ST HIFT | 1x5=5

TR TR 1 a1l shl fohegl wier ferRiwenat o1 9uie shifT | 1x5=5

fraferfaa wat i ufew 3ik 37 i few e aw=t & 3w fafe

Hid — A STEE, R 3Rk du wmeA

Ahas H a8 gt oal a8 Bidl & Tob ST b1 3191 Ik - T IR 3T IEehi T
TR TR ©@ | S-S 3R JUTEHd 31 S o o o ot ol ufsen |
rfierl S T W EHT ST dTfeh AT o Jid fSHeR TR §9 Toh 3T ThR A
I Teal 3 3Efig WM ¢ |

| — B anfdies wglg ok fawm

AHTITE! ITet W ferenfird <xT 3T TATehdiiieh SUaelT aTet A Taehidd < o S ol I
0 1 | T EH I ST Tehd & foh 0 HIH! H Silehdil=ieh sere aHTemg! § & fUse |
A — C AnTieRt Y TRt 3R AT

WA | AhAIh Sl 4 HAFAR 3R HeWTd H1 RIR g3 Sl o @M 6 T0H gl
IR G AT & TTd i 9 {1 2 | 377 Y Arferra Wewre 3T ¢ o IS8T <@ i
fretd € W 3 9ed | St A1 Afqes 9 A8 g1 | e $E JTEHE % Feid 3T A
319 SAThaireh AR o Ui wamer Tehd gUE |

Hid — A STREE, R 3Rk du weA

(32.1) AThdIlIeh TTHR ANTIEhT ohl TS ITch HOTT o T T&am 8 st 8 2 1
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29.

30.
31.
32.

Read the source given below and answer the questions that follows :
Why Non-cooperation ?

In his famous book Hind Swaraj (1909) Mahatma Gandhi declared that British

rule was established in India with the cooperation of Indians, and had survived

only because of this cooperation. If Indians refused to cooperate, British rule in

India would collapse within a year, and swaraj would come.

How could non-cooperation become a movement ? Gandhiji proposed that the

movement should unfold in stages. It should begin with the surrender of titles

that the government awarded, and a boycott of civil services, army, police,

courts and legislative councils, schools, and foreign goods. Then, in case the

government used repression, a full civil disobedience campaign would be

launched. Through the summer of 1920 Mahatma Gandhi and Shaukat Ali

toured extensively, mobilizing popular support for the movement.

(28.1) What was the weapon of Gandhiji to fight against British Empire in India ?

(28.2) How did the British survive in India ?

(28.3) Explain Gandhiji’s idea for making non-cooperation as movement.

1x3=3

Section - C
Explain the role of Otto Von Bismarck in the Unification of Germany. 5
Explain the role of Giuseppe g/llgzzini in the Unification of Italy. 5
Explain the effects of globalization on Indian agriculture. 1x5=5
Describe any five features of Indian National Congress Party. 1x5=5

Read the following sources and answer the questions that follows :
Source A - Accountable, responsive and legitimate government
In a democracy, we are most concerned with ensuring that people will have
the right to choose their rulers and people will have control over the rulers.
Whenever possible and necessary, citizens should be able to participate in
decision making that affects them all. Therefore, the most basic outcome of
democracy should be that it produces a government that is accountable to
the citizens, and responsive to the needs and expectations of the citizens.
Source B - Economic growth and development
The difference in the rates of economic development between less developed
countries with dictatorships and democracies is negligible. Overall, we
cannot say that democracy is a guarantee of economic development. But we
can expect democracy not to lag behind dictatorships in this respect.
Source C - Dignity and freedom of the citizens
Democracy in India has strengthened the claims of the disadvantaged and
discriminated castes for equal status and equal opportunity. There are
instances still of caste-based inequalities and atrocities, but these lack the
moral and legal foundations. Perhaps it is the recognition that makes
ordinary citizens value their democratic rights.
Source A - Accountable, responsive and legitimate government
(32.1) How does democratic government develop mechanism for
citizens to be the part of political decision making ?

J 11 P.T.O.
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(32.2)  TorH &2 b &H e Fehd 2 b cliehaa ATRIeh foaehe o foru o st 2 7
3T I H1 & feigati & Trm Hif | 2

Hid — C ANTHRERI hY TRAT 3R 3T

(32.3)  orE B b ilohad e hi AT 3T TIG=dT hl SQTeT el & ¢ Ush 3cTalul

% |1 TIE HIT | 2
33. ‘Rt Rad s RO b MU= HAl Sl BRIV T A T@d 8 17 39 HA
IeTELvTt Afed gfe Hifre | 5x1=5
rerEn
“TI% TETIAT UG HoIGH <! FHUMHR T HHY hl THET T ITRA H Heg L & |” 38 HoH
1 IgTeTN Higd IE HINT | 5
34. fovawt & ITUEH Hl TH-GR | Fie o o Sgug HHafar i it 1 fagero
HIT | 5
wUE -9
e 3neia 9

35. (a) < @& ‘A’ 3R B feu T wra % Uil W@-AEtEE | 3ifhd fey | e
AN okl TTHARgd THeRI h TRl 8 Y=Y 3T 3 Tgl A1 AHfT W
(A) T8 TIH &l AfTATITAT ST BeAThTS g |
(B) o1& ¥ &l Mt 3 Yt firet worgll o v ° weamwg T | 1x2=2

(b) 3t feu MU vRa % TsHifoe WET-aEt § Frefafaa @ @ 6 =) @ suge
G fegb — oy
(i) 3R R T
(iii) fomR  — <8 3R 3ETa W
(iv) et — WA THTATSH UTeh
(v) == — S HE
(vi) TARIYL —  3ATOTfereR Tl B 4

e : Ffaiaa ae7 hae givanfem udenfe= & fore w97 @@ 35 & W W, 5 9 &
W?aﬁm:
(35.1) 39 TS o1 AW Te1faT gt Sfcraiaren ST gmehis g3 |
(35.2) 38 T 1 A fefaw STar iefish = geft firet weiqll = ved § geamg foha |
(35.3) 3| TN 1 A fotRaT &t Wi TEH i w1 3TREeH 1927 | 377 o |
(35.4) 3H TS o1 AW feafge et feadt aia fm 2 |
(35.5) 39 U= 1 W faIftau 78T ¢ <iig oTsh @M 2 |
(35.6) 3G T o1 A1 feiRgu &t TR «iig 39drq woe fea R |
(35.7) 3€ U 1 9 foiflay Sief Aiugt digeswm SoHieis qreh {2 |
(35.8) 3| TS o1 A9 foaRaw sraf ==1s T va= fua 2 | 1x6=6

U ————
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Source B - Economic growth and development

(32.2)

To what extent we can say democracy work for economic
development ? Elucidate your answer in two points. 2

Source C - Dignity and freedom of the citizens

(32.3)

To_what extent democracy promote dignity and freedom of
individual ? Elucidate with an example.

33. “The Reserve Bank of India supervises the functioning of formal sources of
loans.” Support the statement with examples. bx1=5

OR

“The Self-Help Groups help borrowers to overcome the problem of lack of
collateral security.” Support the statement with examples. 5

34. Analyse the role of Multi-National Corporation (MNCs) in interlinking

product

ion across countries. 5

Section - D
Map Based Question

35. (a) Two features A and B are marked on the given political outline map

of

India. Identify these features with the help of the following

informations and write their correct names on the lines marked near
them.

(A) The place where Jallianwalla Bagh incident took place.

(B) The place where Gandhiji organized ‘Satyagraha’ in favour of

cotton mill workers. 1x2=2

(b) Locate and label any four of the following with appropriate symbols
on the same given political outline map of India.
(1) Tehnri —  Dam
(1) Indore - Cotton Textile Industrial Centre
(i11) Vijaynagar —  Iron and Steel Plant
(iv) Noida - Software Technology Park
(v) Chennai —  Major Sea Port
(vi) Tarapur - Nuclear Power Plant 4

Note: The following questions are for visually impaired candidates
only in lieu of Q. No. 35. Attempt any six questions.

(35.1)
(35.2)

(35.3)

(35.4)
(35.5)
(35.6)
(35.7)
(35.8)

Name the State where Jallianwalla Bagh incident took place.

Name the place where Gandhiji organized ‘Satyagraha’ in favour

of cotton mill workers.

Name the place where Indian National Congress Session of 1927
took place.

Name the State where “Tehri Dam’ located.

Name the State where Durg iron ore mines located.

Name the State where Vijaynagar Iron and Steel Plant located.

Name the State where Noida Software Technology Park located.

Name the State where Chennai sea port located. 1X6=6

13 P.T.O.
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